FHofl 30 = &3iA A5,

21x 4+ 25(x—9) - 3 = 20x + 12x — 60x — 6
21x +25x—225 -3 = -28x -6

T4x = 222

Lx=3




X R —
o T3t QA 7
> =

> ™ -5

2(2-3x)=a(2x-3) o f7t x =4 o|B2
x =45 HdstH
2(2-3x4)=a(2x4-3)

—20 = 5a

Ta=-4

Tx—(9+ax)=4(x-11) N a=-4 5 Y

Tx—(9—4x) =4 (x-11)
Tx—9+4x=4x—44
Tx = -35

webA x = -5 ok,




= =)

)A
RS

o] =

2 o]
=
L=

=
FAEY 6% ©f

e
=

S

8% °] Aa=°l 600g A
s

3.

ul

(600 — 2x + x)

6

100

8

240g
xgClBEZ

o
~—

o %

8
WX600—1_00X2X

4800 — 16x = 3600 — 6x
Sox =120

=]
=

2 240g

o %

!
!

=

]




) 4 3
d }‘E‘J%*—JH = x;“, 02x+06=b-03x2 7} x=2¢

® 1.2 @ 24 @ 3.6 @ 4.8 ® 6

2
28 FoH4=2+a
2

£ 0.2x+ 0.6 = b —0.3x o] tHYsHA
2406=b-03x2

0.6=b-06

oFHof 10 & H3lH

446=10b-6

10 + 6 = 10b

16 = 106

L b=16

W&t g+ b =2+ 1.6 =3.6 °|th.




FL L5 AL U A FEBAR 3 AZL BAEEAZE 4
Atk @k 7bS 2 BEO B Wi o 2 Ake] AUt &
SEEAG} A, B o} i1 E BAG) B do] §9he ), o] 715
A9 dlel 2 A7e] el A7}

=}
=
4

@© 2 AIzF @ 6 A7t ® 10 A7

@12 A% ® 14 A7

29712 9= b xAZt] AL oFR
1 1 1

§x+1x—§x:1

4x 4+ 3x—6x =12
Lox=12




